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���¥� áµ§¨�¶·¸z{¹º»¼�¥� b́µ§¨� 
1 2ω ω= �

1 Hω ω> �½¾¿À�����ÁÂ�Ã�
1ω �Ä¢�|} ( )s t ��� ( )s t

�����
 

( )M ω

Hω ω0

  

�
áµ                            � b́µ tu

3v6w¶z{·¸¥¦�§¨��ÅÆ¢�ÇÈ®ºÉ¯Ê 1( )f t Ë 2 ( )f t ����ÌÍÇ�
1( )c t Ë 2 ( )c t

�
 

 

 ÎÏ
3Ð7ÑÒÓÔÕÖ×ØÙÚÛÜÝÞßàáâãä HZWfpn /105.0)( 3−×= åæçèéêëìíîïðñòóçôõö÷øíçô

)(tm
ðùóúíå5kHz

õûîïü
100kHz

õýøçôðþÿü
10kw�����ðë�çôå���ø	
�õ�
�ó�ü 10kHz

ð���ó��ï	�ïõ��� 

1�æ��ó��ï	é�ùÿü��? 

2��ø	ë��ðç�þÿ�ü��? 



 

 

3��ø	ë �ðç�þÿ�ü��? 

 !"
3#9$%&'øí()ðë ç��ü 20dB

õë �*þÿü
10

-9
W
ë �+�ø	ë��
,-ðêë./ü

100dB
õ�0� 

1�DSB1SC 2ð34�ë þÿ5 

    2�SSB1SC 2ð34�ë þÿ5 67
38109÷øíçô ( )m t

ðþÿ:;<
( )     2

0

m

m

m m

n f
f f

p t f
else

≤
=

õ�=
SSB

øí>?@Aêë BCDçèðEF�õ�0� 

1����ðë�çôþÿG 

2����ðë çôþÿG 

3��H�I SSB
çôðJ�*ðñòþÿ:;<ü 0

2

n õ÷øí	ðë ��KLMùÿü
mf Hz

ð��N��ï	õOPõë ç�þÿ�ü��5
 

4�æ()ðøíí<QRG
ü��5

 67
38119 

�ST�U AM
çôV=WXYZ[@A�ø2õ\í<QRG ]^_

2

0 0

2 2

/ 2 ( )

/ ( )i i

S N m t
G

S N A m t
= =

+

`abcde fg
3h12ijklmno`pqrstuv 0w4000Hzxyz{|}uno`~���_� ( ) ( )cosm cS t m t tω= x�����c��}x 

1�������}`����� 

2�����`��n��� 20dB
~x���}`��n��e fg

3h13i���|pq}u��x�� ¡� 100Vxpq� 100MHzx}uno ( )m t
`p|tu¢

5kHzx 2 2( ) 5000Vm t = x 500fk π= rad£¤s V• �x¥¦p§ 75f∆ = kHzx¨�n©ª�«¬q­®¯°±²`xy 3( ) 10nP f −= W/Hz
¤³{|�x´µ¶ 

1���·����¸|¹º�»`¼�½¾ ( )H w � 

2��}»���`¿À¬q�� 

3��}»���`¿À¬q�� 
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